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Candidates must write the Code on the
title page of the answer-book.
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3T 39 AT & R o IT-YfEdh! T g I a1 fora |

e Please check that this question paper contains 8 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.
¢ Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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Time allowed : 3 hours Maximum Marks : 90
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(i) 1 37% Tt 371 & I/ U 918 & Uk qIaFT % 51 |
(i) 8 3Pl a1 F¥I & I 50 - 75 =51 @ &1 |

(iii) 4-5 3% arct Fo1 & IT TTHT 150 Jeg] & &1 |
(iv) 6 3Pl 917 JF1 & JT TTHT 200 5] 3 &1 |

() T T F GH T Gr-arg & 57 B |/

General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.
(iii)) Answers to questions carrying 4 — 5 marks may be about 150 words.
(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. ‘“ored =g s 81 31 "riires A1 TR Uemfaes, Jey bl fshamd |yt Teat o
TAE & | 39 ed ¥ fAfed Yerg o Sanyg fanimar i 9g= | 1

Identify the basic characteristic of management involved in the
statement — ‘The activities involved in managing an organisation are
common to all organisations, whether economic, social or political.’

2.  SATEHTh YHTERUT hi TARiel @& hal STl & ? 3« iy | 1

Why is business environment called dynamic ? State.

3. ‘Tl il al TR foRaT S Hehdl & I YUk Jgd § B I8 e o T
FIT BT 2 3 HY T 2 |’ 39 hI g 30T YS9 & H1A k1 419 9d15¢ | 1

‘Dreams can be turned into reality only when managers think in advance
what to do and how to do it.” Name the function of management indicated
by the statement.

4. IS % 3G YHR HT 3@ HIC AT et TR o =i i Tt T8 <ar |
State the type of plan that does not allow any flexibility.

~
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venné€ organising’ as a function of management.

6. TS % HEHS GId hl ITYHAT T 3@ HIMT | 1

State the suitability of functional structure of organising.

7.  Tigheet e o e Fia e et afsean 2 2 3g@ hifv | 1

How is staffing a continuous process ? State.

8.  IZ HI gl AT g Toh ‘ANTRON T Sl AT 8 2 3g@ HIT | 1

Why is it said that ‘Motivation is a complex process’ ? State.

9. foei At e i £ e A ]

List any two non-financial incentives.

10. SIfeA A1 Hehe foirg A0 Rl 379 FATST | 1

Give the meaning of ‘Critical Point Control’.

11. “Frem 3usiht e famor wra’ & 189 & fou forda gew=ai hl sTawarehdr gl
27 1

How many members are required to constitute ‘District Consumer
Dispute Redressal Forum’ ?

12, Suvihr % 3ifafieh, SUgh SRl B H frhEd o 9 G ol fohedl a1
g&qi @ |19 SdTsT | 1

Besides a ‘consumer’, name any two parties who can file a complaint
before the appropriate consumer forum.

13. A § ¥ fafiees Mg w2 9 o9l s &1 ™ B W 7 | T T
HHATE! o S R T ITEIRcd 1 AT GHE fa9sH gia1 2 | I8 d 6
HEqU Ui Od EHE YeRgeh ATl I OwEE H 9d § | YRl H
HGER F5d 3181 7 FHAC Tt HHAR] 95 G 2 |
(a) I 3T=ag H Affa ye-g & fagra &1 3g@ Hif |

(b)  Toregl Q1 oIl sl I=THT ST hFA FHIS ! FRIFYG AT =Tgd! & | 3
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workers and management. The management even takes workers into
confidence before taking important decisions. All the workers are

satisfied as the behaviour of the management is very good.
(a)  State the principle of management described in the above para.

(b)  Identify any two values which the company wants to communicate
to the society.

14. dicesh sfear fafies fuoeft it w9 & it W@ 3 &) 9o o1 @ &
s B H oA W 2 | B ¥ 3 o folw gover 4 39 3h1s ! UH fuse
&89 T TAMTANT A o TR H i1 &1 4H 95d HH AN W 39y g | T4
4 fomn srffcr Aol & wu=miEl 8 AfaRes 9 1l e & T o e e
TE% Fet H 3L W & T W HA=TE B worgt Ifg g oft femm | wgd
HH 9T § ST 3 A il wET I s eI ifes Teruent ug sfhent

TET A ITUH-3TI F=FT B g R |
(a) 3ITH Aeag H afvla Jevg & faga 1 3g@ HIT |
(b) U T oAl I UEATHT ST HEIH! THTS i FEINT HEAT =M © | 3

Voltech India Ltd. is manufacturing LED bulbs to save electricity and
running under heavy losses. To revive from the losses, the management
thought of shifting the unit to a backward area where labour is available
at a low cost. The management also asked the workers to work overtime
without any additional payment and promised to increase the wages of
the workers after achieving its mission. Within a short period the
company started earning profits because both the management and the
workers honoured their commitments.

(a)  State the principle of management described in the above para.

(b)  Identify any two values that the company wants to communicate to
the society.

15. Sl s foig &1 gfad st aTel ekl 1 U hi | 3
Explain the factors that affect capital budgeting decision.

16. Torfta FESH % A& o foheal diF [og3Tl ol 3g@ hiT | 3

State any three points of importance of financial planning.
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(i)  arfurSIes foa |

Give the meaning of the following money market instruments :
1) Certificate of deposit; and

(11) Commercial bill.

18. ToUWoM Yoy i 3W STFURON FI UEEIHT TH GWSSY S IE Od Ll § b
3CUTE T HATU ohaed 3eh! UGl T ST 19 o HRUT T Gliel A, A7ug
FafcTT GE STt & foh 9 Tk SuMIAT <l fafiTe STrawaehal ol 98 &l & | 3
Identify and explain the marketing management philosophy which

implies that products and services are bought not merely because of their
quality or brand name, but because they satisfy a specific need of a

customer.

19. Sf<oa ufomi @t 99 % f adEE 9 w1 SR Td gaargul TR shell
FHEAT 2 | 39 hF o G 1 9uiH HIfSe for Jemar svem B SAean 981 | 4

‘The skilful and personal application of existing knowledge to achieve
desire results is called art.’ In the light of this statement, describe

whether management is an art or not.

20. SATHIRI TATGRU o HEw o fohral AT [SIg3Tl I UM HINT | 4

Explain any four points of importance of business environment.

21. Trem ufseen & frafafea arfshe =won o qverd, 3@ ufshan &l 90 & arat
T I HATST 4

(a) 3 A ﬁ"ﬂ'iTUT,
(b) foerrasfier smum; qen
(c) TRl shl Jehfcysh faferR <l gg=m T |
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» complete the process :
(a)  Setting objectives;
(b)  Developing premises; and

(c) Identifying alternative courses of action.

22,  IUMRAT T A=, 1986 o FTIR IJUHRRT <l qRATT ST | 4

Give the definition of ‘Consumer’ as per Consumer Protection Act, 1986.

23. Wl & STTdNeh Gldl o ATHI T 3T HIT | 5

State the merits of internal sources of recruitment.

24, TSE qun = & gray sl 99ETsT | 5

Explain the relationship between Planning and Controlling.

25. T=fRad & ER W St IR 3R Gg1 9o # F=qwg HhIvT 5
(i) 9T o 9T
(i) W
i) T ufsr (vfe);
(iv)  3Tafy; qun
(v)  OeIdr |

Differentiate between ‘Capital Market’ and ‘Money Market’ on the
following basis :

1) Participants;
(i1)  Instruments;
(i1i) Investment outlay;
(iv)  Duration; and
(v)  Liquidity.
26. T 3I=W HUS A h fohdl U= fomianat =1 3g@ HifV | 5

State any five characteristics of a good brand name.
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AT
=R Tg 3= e § ffafga sy w sravg $ifsw -
G e

(i) 3,

(iii) ~ 3TRIR;

(iv) IR

(v)  GUYY T JaTE; 99T

(vi) ﬁﬂa |

Explain the steps in the process of Organising.
OR

Differentiate between Formal and Informal organisation on the basis of
the following :

1) Meaning;

(i1) Origin;

(iii)  Authoring;

(iv)  Behaviour;

(v) Flow of Communication; and

(vi)  Leadership.

28. YT HUYUT 1 AAIGTHS S1E13AT H1 JUM HIT | 6
HAYAT
feeM fohd YRR &S o JIHEYU Ud P F9leM W HEEAl Hdl B ?
HHATLT |

Describe psychological barriers to effective communication.

OR

Explain how directing helps in effective and efficient functioning of the
organisation.
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AT

Teh HEGHT <l TARM G5t STTTTIharatl ol YNTfAd hid el fohegl TR SIEhI I
Ui HIT |

Explain any four factors affecting the dividend decision of a company.

OR

Explain any four factors affecting fixed capital requirements of a
company.

80. foquH Ty % IR HE@YUl awl i THSTET | 6
AT

Ueh ITRH foaio] H1eqy o =¥ ! (YT i dTel fohegl 91 ehl @l avid
HIT |

Explain the four important elements of marketing mix.
OR

Explain any four factors determining the choice of an appropriate
channel of distribution.
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